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Direction: Study the following information carefully and answer the following 
questions. 

9 different persons are born in nine different months - January, February, March, 
April, May, June, July, August and October. J was born in the month having less than 
31 days. Three persons were born between J and K. D was born immediately before 

A in the month having 30 days. The number of people born after D is one more than 
the number of people born before B . E was born immediately after C . H was born 

before F. 

1. How many people were born between E and J?

A. Three
B. More than three

C. One
D. Two
E. None

2.Who was born in July?

A. H
B. A
C. D

D. K
E. None of these

3.How many people were born after D?

A. Three

B. One
C. Two

D. None
E. Five

4.Four of the following five are alike in a certain way and hence form a group. Which
amongst the following does not belong to that group?

A. B
B. D
C. H

D. A
E. K

5.J was born in which month?

A. June
B. May
C. April

D. March
E. None of these 

Direction: Study the following information carefully and answer the following 
questions. 
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An uncertain number of people are sitting in a row facing north. K sits third to the 
right of G. Five people sit between K and H. J sits second to the left of H. Three people 

sit between J and Y. E sits immediately to the right of Y. Two people sit between E 
and A . The number of people sitting between A and Y is equal to the number of 
people sitting between K and R. N sits immediately to the left of R. The number of 

people sitting between N and G is equal to the number of people sitting to the right 
of R. Only two people are sitting to the left of A . 

6. How many people are there in the row?
A. 22

B. 20
C. 16

D. 18
E. None of these

7.How many people sit between J and K?
A. Six

B. Three
C. Seven
D. One

E. None

8.Who sits sixth to the right of Y?
A. K
B. N

C. H
D. G

E. J

9.If a meaningful word can be formed using 1st, 3rd, 5th and 10th letters of

EXPIRATORY. What will be the second letter of the newly formed word? If no such
words can be formed mark X as your answer. If more than one such word can be

formed mark Z as your answer.
A. Y
B. R

C. E
D. Z

E. X

10.How many such pairs of letters are there in the word BIOGRAPHY each of which
has as many letters between them in the word (in both forward and backward
directions) as they have between them in the English alphabetical series?

A. Three
B. None

C. Two
D. One
E. Four
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11.What is the name of SEBI’s consumer redressal portal?
A. SCORES

B. HeadHonchos
C. E-Nivaran
D. MANI

E. None of the above

12.According to the union budget 2022-23, the central government has increased
the agricultural credit target to______.
A. 17 lakh crores

B. 18 lakh crores
C. 19 lakh crores

D. 20 lakh crores
E. 22 lakh crores

13.The Reserve Bank of India (RBI) has approved SBI Mutual Fund, along with other
SBI group companies, to hold a 9.99% stake in which bank?

A. State Bank of India
B. ICICI Bank
C. HDFC Bank

D. Kotak Mahindra Bank
E. Bank of India

14.Which Bank has reported the highest number of frauds at 642, involving Rs 1 lakh
and above, in the first nine months of 2021-22?

A. State Bank of India
B. ICICI Bank

C. HDFC Bank
D. Kotak Mahindra Bank
E. Bank of India

15.Which one is not a loss-making insurance company from April to December 2021?

A. NIACL
B. LIC
C. Oriental Insurance Company Ltd

D. Agriculture Insurance Company of India Limited
E. United India Insurance Company Limited

Direction: In the given question, a part of the sentence is printed in bold. Below the 

sentence, alternatives to the emboldened part are given as (A), (B), (C) and (D), 
which may help improve the sentence. Choose the correct alternative out of the given 
five options. In case the given sentence is correct, your answer will be option (E), 

i.e., "None of the above"

16. The heavy rainfall across the city has expose the inadequacy of infrastructure
to withstand rainfall.
A. Has uncovered the fact

B. In the city uncovering
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C. Near the city show
D. Throughout the city revealed

E. None of the above

17.The panel set by the hospital will play a pivotal role in rehabilitation of patients

suffering from critical illness.
A. Crucial role in recovery from

B. Trivial part in curing
C. Important role in deciding
D. Vital role of treatment

E. None of the above

Direction: In the given question, a statement has been divided into five segments, 
each of which is denoted by (A), (B), (C), (D) and (E). Rearrange all the segments 
to form a coherent statement.  

18.  
A) if certain materials became

B) optics industry the
C) breakthrough would be enormous
D) readily available to the

E) payoffs from such a
A. ABCDE

B. ACDEB
C. BACDE
D. ADBEC

E. DABEC

Direction: In the given question, a statement has been divided into five segments, 
each of which is denoted by (A), (B), (C), (D) and (E). Rearrange all the segments 
to form a coherent statement.  

19.  
A) curriculum allows less time

B) concern that the proposed
C) than hitherto for classical music
D) syllabus in the revised music

E) the commission expresses its
A. ABCDE

B. EBDAC
C. DEBAC

D. DACBE
E. CABED

Direction: In the given question four words printed in bold, one of which is wrongly 
spelt, are given. Choose the incorrectly spelt word as the answer.  

20.  
If property (A) is insufficiently famished (B) for full habitation (C), it may remain 
unoccupied (D) for sometime. 

A. A
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B. B
C. C

D. D
E. All are correct.
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1. Ans. C.

2. Ans. B.

3. Ans. A.

4. Ans. B.
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5. Ans. C.

6. Ans. A.

7. Ans. C.

8. Ans. C.

9. Ans. D.
PYRE - Wood heaped for burning a dead body as a funeral rite.

PREY - A person who is the aim of an attack (especially a victim of ridicule or
exploitation) by some hostile person or influence.
10. Ans. C.
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11. Ans. A.

• SCORES facilitates you to lodge your complaint online with SEBI and subsequently
view its status.

• SCORES is an online platform designed to help investors to lodge their complaints,
pertaining to securities market, online with SEBI against listed companies and SEBI
registered intermediaries. All complaints received by SEBI against listed companies

and SEBI registered intermediaries are dealt through SCORES.
• Full form of SCORES is (Sebi COmplaints REdress System)

12. Ans. B.

• The government has increased the agricultural credit target to Rs 18 lakh crore for
the 2022-23 fiscal from Rs 16.50 lakh crore for the current fiscal.

• About Rs 7.36 lakh crore agri-credit has been disbursed to farmers during the first
six months of the 2021-22 fiscal year against the target of Rs 16.50 lakh crore,

according to the Economic Survey.
• During the 2016-17 fiscal, the farm credit disbursed stood at Rs 10.65 lakh crore,
Verma added.

13. Ans. B.
• The RBI has allowed SBI Mutual Fund and other entities in the SBI group to together

hold up to 9.99% stake in ICICI Bank.
• The relaxation comes in the wake of revised ownership norms for private banks
announced by the RBI last year.

• Before the new norms came into place, the RBI did not grant approval for individual
entities to hold more than 5% in a private bank.

14. Ans. D.
• Kotak Mahindra Bank has been hit by the highest number of frauds at 642, involving
Rs 1 lakh and above, in first nine months of 2021-22.

• It was followed by ICICI Bank and IndusInd Bank at 518 and 377, respectively.
15. Ans. A.

• The government is in discussion with the insurance regulator Insurance Regulatory
and Development Authority of India (IRDAI) seeking extension of special dispensation

to the state-run general insurers for meeting solvency requirements.
• National Insurance Company Limited, Oriental Insurance Company Limited and the
United India Insurance Company Limited are loss-making insurers. In the last two

years, the government has infused more than Rs 12,500 crore in these three
companies.

16. Ans. D.
Option D is the correct answer.
17. Ans. E.

Option E is the correct answer.
18. Ans. D.

Option D is the correct answer.
19. Ans. B.
Option B is the correct answer.
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20. Ans. B.
Option B is the correct answer.
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